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We learnt; Also the hands which come because of a scroll

Overview

The X713 cited a Xn°>72 which stated that hands which touched a scroll of Scripture
are 77N 7019, on account of 7119 1. Our Moo explains why the X793 cites the
Xn»72 of 7179 "1 when there is another source in a 71wn for 07> DRMW.

mooIn anticipates a difficulty:
= 0PN HN PNNPLVN 1\')‘1‘,711 2N Y5 ¢'nmawn a9y B NIVNT PNNINMD 2521 KYT RN

And the reason the X713 did not cite the ;71w% of 2575 noon which states, ‘all holy
writings are N»un the 2°7%°; why just cite a Xn*2 when there is a 7wn?

mooin replies:
= D2YAN NYTNA NPT RN 9N '90Y 3\’)‘1‘,75 99513 311 2912919 199817 BIUN

Because we could argue that when is the ruling of the 71wn applicable only for

w7, therefore the X 1) cited the Xn+s92 which mentions 720 explicitly, that
27> which touched w7p >790 are Y010 even 217N,

nooIN asks:
= 7599 297 DIVN 990 NHNNN NININ O NIIN INMII 9INRN ON)

And if you will say; but why mentions only 2%7> which came into contact with a

19® become X»Y because of 7399 '3, when in truth -
=933 MNP0 D NNNM 1IN

Even 0°7° which came into contact with anything which is ;7290 %01 are also Xnv -
= DY MONY 0N NN NNVN NMINN NN DDIN DI (3 mwn 7 pa9) DT NIDNI )INTD

As the mw» teaches in 2979 noon, ‘anything which is 572190 o0 is X»un the 277
to become n»Iw’, and a 1w can be 7m0 Y01, so why limit it only to 990 MR MR 272!

Mo0IN answers:
- UTPY NN IINY N3N NN RPONPT 1T NONYT YVIPY NPT 1NT 90 v

And one can say that the 73w in 0°7° which states that DX RXnawn 721707 DR 0197 7

"'w1p *an3 include 2°2n21 2°R*21 7N,

* This seems to be merely a "11"7; however in actuality W7pa *an3 are 0777 DX XaWx even 1N DX 21095,

Swnp (meaning the meat of the N3P or the MmIn) is more susceptible to XMV than 7M7N; even a *w 7w can be 010
w7pn, but not 77N, Therefore we may have thought that the 07> nX»w in that 71w» means that the 07 which
touched w7 *an3 can only be 2019 (or Xnun) WP, but not 77N,

* This means if only one hand is X and it touched his other hand they are now both Xnu.
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277, that is only in regards to w7Ip, similar to the next ruling there’ that one
hand can be X»u» the other hand, where this rule applies only to w732, but not to

N -
= (3,15 91 139312 NN

As is evident in 73531 N0, It is only 790 nann o°Xa7 o7 that are 72170 2019,

mooIn discusses an anticipated difficulty:
= PPN 215 5Y YW NYIY 2IW 13581 PIINDT (0w 2,75 91 PIINT 72 D999
And in the second =2 of 121 noon where yw1 ' states, ‘we find that a "1 can
make a "2 through ypwn’ -
-y VIV 7Y 990 212 HYT 1298197 9199135 2133 I8N 1N

Y17 " could have also said that we find that a "2 makes a 1w through a =29, -
1WA %an91 1Y 2w 910 FPoYna MmN MRYHN 529 Y25 XYY ANIYI NIV

And perhaps when yu > " saw that X' did not accept his response from
Ppwn (that Ppwn "y 1w mwy "1w) he went back and responded to him by
bringing proof from w7p:7 "an>.

Summary
The rule of N1IW N2 0¥7°7 DX RPLA T1NT DR 20197 2, is only in regard to WP,

however regarding 7m7N it is only by 790 nann 0°X2a7 7.

Thinking it over
Is there any connection between the 121 XX °X»1 n"X3), and the question and
answer which preceded it in the beginning of mpoIn?"?

5 The mawn there reads, 2°MIR D72, YWY ' 2127] 7N02N DR ARALA T . NS 0970 DR Rnvn ,021N7 DX o))
[@°77 DR PPRALA DM WIPT *and i NahiRatah; AW v 01w PX. It seems that the onon only argue regarding AN 7
7n1an, but not regarding NYIW N7 0¥ DR XAUA 2100 DR 20197 95,

® The xm3 there states, 79170 XY 22K WP 7NN IXALA THW KD "INPTA.

7 This should (seemingly) be X,7% (not 2,79)

¥ This was in response to X"7 who asked how can you YW1 " say 11 PWRI 729X Y27 is a "w, how is it that 1w
makes a "1, to which *"1 responded 1pwn "y 1w AW W 11°¥A.

? See »"wA there *"y 7"7 who writes, NX 901971 93 2IXY INPTD T9NN PRWA WY YHY A9 ApwATw 231X W YW YA OX
1 D2IRA WYY APWAT WM 791N DAY Pwn Xavn N, See also previously ywi 1 7"7 'oin [TIE footnote # 1].

A poisaw (it is 7110 501) and the o°7° that touch it are also a *1w (they too are 7m7n H019). The advantage of
bringing the proof that 1 7wy "1 from 190 (as opposed to pwn *"v) is that here the ("3w) 750 makes the 7 directly
into a "1, whereas by o, the *1» makes the o°» a 17WX1 and the 2 in turn makes the other 721 a 1. The case of
190 is more similar to the case of yw3° " there, who maintains that 1w %318 79877 becomes a "w, for "w 7w W,

"' X" responded; 1777 7770 "1 PRWn XM See previous footnote # 10.

12 See the 7wn in 277 (see footnote # 5) where the 01dm said to Y@ " that "1 Aww "1 "X and he responded; &
O°7°7 R PRALA D7 WP *anD XM ,an? (YW ).

3 See n bw naw.
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